Curved Rose Design Bench

H252 vo002: 02/09/22
Please rea:j’ and retain these instructions for future reference GAINSBOROUGH

Garden & Wildlife

Dimensions
100 x54 x80cm

«  CLASSIC ENGLISH ROSE DESIGN GARDEN BENCH

«  CURVED DESIGN IDEAL FOR 2 PEOPLE

«  CHARMING ADDITION TO YOUR GARDEN PLACED
IN YOUR FAVOURITE SPOT IN YOUR GARDEN
WHERE YOU CAN RELAX AND WATCH THE WORLD

e GO BY

A S D) .« * MADE OF AMIX OF CAST IRON AND CAST

' : ALUMINIUM THAT IS WEATHER AND RUST

RESISTANT. HOWEVER WE RECOMMMED TO
ALWAYS COVER IN ADVERSE AND FREEZING
WEATHER TO KEEP THIS IN GOOD CONDITION.

«  WEIGHT LIMIT 120kg

ASSEMBLY INSTRUCTIONS / INSTRUCTIONS FOR USE:
Unpack the components carefully. Please check all parts have been removed from the packaging.

Please read the following instructions carefully prior to assembly. To prevent the paint from being scratched
we would suggest assembling your Garden Bench on soft ground. Please note the roughness you might find
on the surface of your Garden Bench is the natural finish of cast metal material.

< \ L }"

B &= o)

e 2 - = '// R -
41;.:“// Z o 1' A \Y—_—‘\\\M
.‘,f. P /»4!’; \‘“ el ?/
Y {3 o i

! L N
e La ‘
H

Tools Required: Hex. Key Wrench(Provided) ”

PART LIST
A Seat Plate 1PC H M8 Nut 8PCS
B  Chair Leg 4PCS I M6 NutP 9PCS
C  Backrest 1PC K Plastic Cap 2PCS
DL Left Armrest 1PC L @8 Washer 8PCS
DR Right Armrest 1PC M @6 Washer 9PCS
E M8 X 30 Bolt 8PCS N @8 spring washer 8PCS
P @6 spring washer 9PCS

G M6 X 35Bolt 9PCS

UK Head Office, 11 Bridge Street, Bishop’s Stortford, CM23 2JU

Th e Ente rp r | S@  Tel: 0844 4824400*, Fax: 01279 756595

www.coopersofstortford.co.uk
De partment EU address: D.S.B. LD, 160 Bd. de Fourmies, 59100 Roubaix, France
Tel: (+44) 1279 701269
*UK Calls cost around 7 pence per minute plus your telephone company’s network access.
Please check with your telephone supplier.



http://www.coopersofstortford.co.uk/

Curved Rose Design Bench H252 Instructions for Use

Please read and retain these instructions for future reference v002: 02/09/22

STEP 1 ASSEMBLY STEPS

NOTE: Leave bolts half-tightened on the bench during assembly
until unitis assembled, then finish tightening bolts .

STEP 1:Screw 8 M8X30bolts (E) into seat plate (A).

STEP 2:Attach one of chair legs (B) to seat plate (A) with 2 ®8 washers (L),
2 ®8 spring washers (N) and 2 M8 nuts (H). Repeat this procedure
for assembling the rest of 3 chair legs(B).

STEP 3:Attach backrest (C) to seat plate (A) with 3 M6X35bolts(G),

306 spring washer (P), 3 ®6 washers (M) and 3 M6 Nuts (I).

STEP 4:Attach left armrest (DL) to seat plate (A) with 2 M6X35bolts (G),
206 spring washer (P), 2 ©6 washers (M) and 2 M6 nuts (1),
then assemble left armrest (DL) to backrest (C) with M6X35bolt (G).

®6 spring washer (P), @6 washer (M) and M8 lock nut (1).
Repeat this procedure for the right armrest (DR). Tighten all nuts. Then
cover M6 locknuts (1) with plastic caps (K).

/_
(.

Garden Furniture Maintenance Recommendations

1. Always make sure all the bolts and screws are secured and tight this will stop putting stress on the item.
Do this regularly over the year.

2. Over the winter months wash down metal furniture with warm soapy water and use non — abrasive cloth
or sponge before rinsing and drying.

3. Itis recommended to cover your garden furniture over the winter months.
4. If you have room bring the garden furniture inside over the winter months.
5. Always try and place your garden furniture on level surfaces.

6. You can carry out maintenance on your garden furniture any time.

7. Check your furniture after windy spell of weather.

DISPOSAL

e Coopers of Stortford use recyclable or recycled packaging where possible.
e Please dispose of all packaging, paper, cartons, packaging in accordance with your local {:E!

recycling regulations. %C‘é}

e At the end of the product’s lifespan please check with your local council authorised
household waste recycling centre for disposal.

UK Head Office, 11 Bridge Street, Bishop’s Stortford, CM23 2JU

Th e Ente rp r | S@  Tel: 0844 4824400%, Fax: 01279 756595

www.coopersofstortford.co.uk

De partment EU address: D.S.B. LD, 160 Bd. de Fourmies, 59100 Roubaix, France

Tel: (+44) 1279 701269
*UK Calls cost around 7 pence per minute plus your telephone company’s network access.
Please check with your telephone supplier.



http://www.coopersofstortford.co.uk/

